
DESCRIPTION QTY.

Ref.: 9174

15 min1 person

Nº 3

ALLEN

M5 ISO 7380 screw cap

M5x1 nylon washer

Ø15x7,5 silicon separator
(supplied already mounted on items 1-2-3)

M5x11 Ø11 ISO7380 Allen screw

Inferior metal support (2)

Ø12x3,5 silicon separator
(supplied already mounted on items 2-3)

Superior metal support (1)

Frontfender extension

4

4

4

4

2

12

2

1

9

7

5

6

3

4

2

1

 Easy

Innnteeermmmediate

DDDiffifificcuuullt

M5x2 Rubber washer 48

BMW R1200GS  ‘13 - ’16BMW R1200GS  ‘13 - ’16

Pg. 1/3

IT’S NOT NECESSARY TO DRILL THE ORIGINAL FENDER

 -  FRONT FENDER EXTENSION FOR  -

ID.    PART

https://www.motorcycleid.com/puig/


            
 

BMW R1200GS  ‘13 - ’16BMW R1200GS  ‘13 - ’16

1

2

Pg. 2/3

FILING PART,  DON’T TIGHTEN THE SCREWS

THGHTEN SCREWS

ORIGINAL PART

ASSEMBLY

ASSEMBLY

9
1

2-3

A

6

A

6

7

1

 - MOUNTING INSTRUCTIONS -

 FRONT FENDER EXTENSION FOR  



       

BMW R1200GS  ‘13 - ’16BMW R1200GS  ‘13 - ’16

EXPLOTING

44
99

7
7

55

77
6

6 9

9

44

222
88

55

44 44

44 3

8

3

8

44

6

6

1

Pg. 3/3

 - MOUNTING INSTRUCTIONS -

 -  FRONT FENDER EXTENSION FOR  -

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

